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Note: - You have four choices for each objective type question as AB,C and D. The choice which you think is correct; fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up.two or more circles will result no mark.

SECTION-A (i.»

Q.1 Questions /= 1l» A B c D
3 e o sl 3LIUE ol s ; 7 Uz —
1 Along with the increase in output the AFC (Averagew e e Remains et po
fixed cost): Increases Decreases conetit Becomes zero
v —_— d}l?/f Lﬂ(ﬁﬂ:u(ol U:utuy Usubiz
2 b ,zrdyv(’] & Perfoct Kiaona : i dghd
. . : b poly Duopoly Oligopoly
There is no close substitute of commodity in: competition
3. I Lan rdiey | SR I 2 Srbr” o6
In long run under perfect competition a firm gains: Abnormal profit Abnormal loss Normal profit Normal loss
-4—b‘l‘/:j)(yw’Jb&'——{g%d?)}ézwggz)‘JJl%d?[; J‘AJ;L&‘ c))sg?b_g' (jlﬁ(fw ‘j!ﬂ.’é{/’
4. | The functional relationship between factors of Productive Production of Production Technique of
production and output called: resources wealth function production
5, et r i1l S i Lo L LSi# LeSip
Average revenue is equal to: Price Marginal revenue Marginal cost Average cost
QWA E ol S s 4
6. | The founder of Neo-classical school of thought Adam Smith Marshall Keynes Pigou
was:
7. oyt kg 4 4 Jorb =F
Which one cannot be stored? Wheat Machinery Raw material Labour
,f.rlr:.‘-ul" Ku”lx,;g; =Sl 2l 2l :;.EIEAJ;’
8. | Thescaleof production is determined by: Financial T— BovEmmak Perfect
resources poly competition
_4_L—n5mw‘£a)wﬁ"{ 4307 Y & # »al
9. | at equilibrium point the slope of (MC) Marginal Positive Negative Zero Infinite
costis: _
10. _4&';7;«4}5():(}3“.#/ )ngf( A;gugj A;.é’j Jhg:)/!ﬂ
In short run the supply curve is: Less elastic More elastic Inelastic Infinite elastic
11, . _-:WJ?:?/:’_,,GI.E:‘{.,»? 4,'.—[7!%? b 4‘4:'!!-.9;’ 41_1717.’.&](,»!1]
When marginal utility is zero then total utility is: Negative Zero Positive Maximum
,[Lq}di—%/}'&é—y/ JJLT (SJ'U{} &rr ."/3
12.| The cause of expansion and contraction of supply Population Technology Income Price
is:
13. _4.L“mf"’Jy4,¢,fLJ ufl: qu \..‘J/’UJ» 4l
Due to fall in demand the demand curve shifts to: Right Left Both sides Upward
14. ,g’,;{:'}f.’iKi.b’JJx} d/ - Vot »il
The slope of demand curve is: Negative Positive Zero Infinite
1. e bnsbeblGat . - G o7b
The curve of linear equation is: Straight line Parabola Elliptical Circular
16. O el btz blbes! i i
The net change in total utility is called: Initial utility Average utility Negative utility | Margin-
-L‘—lrﬂ;uglgdfiyfwdﬂjédp 4J vy 1,)//))
17.| tn market equiiibrium, the determination of price Demand Supply Demand and
depends on: supply
18. _ufﬂm:iﬂalﬁf!i’ Ju,;:} dulﬁ" LSUJUI(U'
Wants are unlimited of: The poor Therich Mank’
- AL i Ji
The Economic Laws are: Exact Permanent ’
8"_/"“” wl Jl)l,g;_,cfb J’),&GW&
- Average production is: B Constant Per unit
gep ’ production production
21.
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Note:-Section B is compulsory. Attempt any three (3) questions from Section C. -4‘30 .:LllL.-pmrcff .a_éf.:_ui,/’ v o SMppae ~2d
SECTION-B (»-»

2. . Write short answers to any Eight parts. (8x2=16) - 4/’..:14;2/;[,,!1!374.69’ 22
i. Define the economic wants. ; 51“/4/7(5.;@&@&» i
ii. Write Adam Smith’s definition of Economigcs. ‘ ,g’fu‘;_/j'nfulfdutﬁbfdi‘/rﬂ i
iii. Whatis meant by economic problem? Sl Lfé..l‘/o‘tv i
iv. Differentiate between public and private goods. ZULU/J-;HJM@K/ v
v. Whatis meant by marginal rate of substitution? 04,,1,p’¢dwfc/f*’ v
vi. Write two assumptions of law of diminishing marginal utility. " _‘Jolh}"mf.f;?ulm}um“uﬂi i
vii. Write the definition of indifference curve. = _‘6..2/7456?7();}& Vil
viii. What is meant by parameters? Sl Wi g il
ix. Define the derived demand. _Q{JL/TJJBJ.’L« X
x. What is meant by arc elasticity of demand? ?g.,u,-(_/:,.,QJMJ X
xi. Write two reasons for the negative slope of the demand curve. _4{4/2@&:7;»65“@?1_?15# Xi
xii. Write down the formuia of income elasticity of demand. ‘,é;/‘.;r,w,@yr Xii
3. Write short answers to any Eight parts. (8x2=16) —é.é!/’ ez FL a3y 3
i. Differentiate between rise and expansion in supply. ,girlzd')u:é.‘f;uléf.*i,éw i
ii. What is meant by market period supply? Sl Ui uSlih i
iii. Define the equilibrium quantity. LAY RO T
iv. What is meant by market equilibrium? Sel e ity FL G v
v. If demand and supply increase equally, then what will be effect on %*‘,4,;(,{/ N 317 e 1T 1 SBIUE U ,wufJf v
equitibrium quantity?
vi. Define the concept of equilibrium. _é(j_lﬁfrf'b’uﬂ] i
vii. What is partnership? S;.Lf:/l/‘ i
viii. Define the sunk capital. e by A8l il
ix. What is remunerative capital? ‘."4(/:&/&]7 .ix
X. Write four advantages of small scale production. - g;;ﬁ:géj‘;t{, X
xi. State the law of decreasing cost. -l olar fP Toib xi
xii. What is meant by external economies? S,y Lfc,u?’laf(})/;. Xxii
4.  Write short answers to any Nine parts. (9x2=18) —.é{/’ bz FLanje s 4
i. Write the meaning of cost of production. _ég F pﬁ" KJJ lailer i
it. What is meant by short run cost of production? ?g_:uyafgfl%dlwé Jf‘-,/ i
iii. Define marginal costs. Yul.l_»’ajlpfﬁ”g i
iv. What is meant by total revenue? Write its formula. = ”d’FUfJﬁ?q—Jf/yé—d)”ﬁJ v
v. Define marginal revenue. ‘ ,,Jz(u_'/f‘jdr:fy v
vi. Write any four assumptions of perfect competition. ,ég Gl /";g:,&f L,&l&f vi
vii. Write the kinds of market according to time period. ?L,Erﬁlgi‘uf(jdbaﬁ(a’La)u/ i
viii. What is meant by real wage? Tl p Lfd_a]i&? Wviii
ix. What is meant by perfect competition? wE Y B o ?4_:1/(_/:.4[:4]? .ix
x. What is meant by industry? : Sl e x
xi. Define ‘rent’. 4{4/7(5()‘} Xi
xii. Define any two kinds of rent. L 2 780008 i
xiii. What is meant by net profit? g o e (‘4,}‘/',-”4.&[/(_"(7 xiii
SECTION-C /r.»
Note: - Attempt any Three questions.Each question carries 10 Marks. ,gﬁ/ 10 Ld:rﬁ _g{{;a@lﬁéamrufaéf.:&]
5 Describe the characteristics of economic laws. ,édgayﬁ Juﬁ lf(f b 5
6. Explain rise and fall in demand with table and diagram. __df.{(lﬁﬁululﬁf.w,;.vMG,L(iju!éﬁ*/,LJ _6
7. Explain law of diminishing returns through table and diagram. ,éﬂﬁlﬁululﬁﬁsj;,;.vlé;éd'b‘}:wc)ib‘ 7
8 Define monopoly and explain briefly its properties. = éz,gk‘g;,y«ﬁém\:cr;:, Vel -8
9 Define mobility of labour and explain its different kinds with the help Ju)e,_.,u,ért}uﬁ’é’wlg{qﬁédg%gﬁddf -9
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